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No| BIEH |#1X%A e &% 4 T HELT B & = i
1 FETHHEE 0.07 - 0.07 -
2 REfE 0.07 - 0.07 -
3 B4 E - - - -
4 AEREM 0.07 - 0.07 -
5 AR E 0.06 - 0.06 -
6 AIXRERR 0.06 - 0.06 -
7 3248 RKAHHE 0.06 - 0.06 -
9 REE®HLMES 0.05 - - -
10 BUOIEREER 0.07 - - _
11 HIZHHEE 0.07 - 0.06 -
12 tEERERT 0.06 - 0.06 -
13 THERER 0.06 - - -
14 - WY HE 0.60 - 0.07 -
15 % |EEREM 0.07 0.06 0.06 -
16 ﬂlzt EMELREE 0.07 0.06 0.06 -
17 KIFRERT 0.06 0.05 0.06 -
18 E/vF+ 0.05 0.05 - -
19 KRR B R 0.06 0.05 0.05 -
20 VELYREE 0.05 - 0.05 -
21 3A258 i%ﬁ':’éﬁﬁ_ 0.07 - 0.06 -
22 EBRARER 0.05 - 0.06 -
23 BEEREM 0.06 0.06 0.06 -
24 AEIEREE 0.06 - - -
25 EILFYHE 0.09 0.08 0.09 -
26 FRENHE 0.07 - 0.06 -
27 HRAREF 0.05 0.06 - -
28 3248 LEUL UK A IEE 0.06 - - -
29 REFLU-CSURESABE 0.07 0.08 - -
30 - REF)IREFT 0.06 - 0.05 -
PRy p—— _

2; 3H278 fé j_c?ftﬁ R it 0.06 0.06 0.?6
= =& 2E 0.07 0.07 0.07
33 KINRERT 0.07 0.07 0.06 -
34 BILREM 0.08 0.07 0.07 -
35 LRRBEFR 0.07 0.06 0.06 0.06
36 - EFEREFR 0.07 0.07 0.07 -
PP —— _

2; 3A26H ﬁ ;; z::ﬁ B i) 0.06 0.06 0.06
= FREFr 0.07 0.07 0.07 0.06
39 BEXRER 0.07 0.06 0.07 0.07
40 AOVREHE 0.06 0.06 - 0.06
41 TIYVARER 0.05 - 0.05 -
42| 3A278 | & (FHEHEEM 0.07 0.07 - -
43 it |BEERER 0.06 0.07 0.06 0.06
44| 3A19H iﬁ HERREM 0.07 0.06 0.07 0.07
45 X [(fBIIRERT 0.06 0.06 0.08 0.08
46| 3A17H | #HE |HEMXARER 0.06 - - -
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